
 

11
222

3

4

5

6

77

88

9

10

11

1212

13

13

14
151515

16

1717

18

19

20

21

22

23

24

www.palfinger.com

PK 16001 K1000.01000-A

08/2009

Miscellaneous



www.palfinger.com

PK 16001 K 1000.01000-A

08/2009

Miscellaneous

1 EK 085 l=280x7,5             Mounting band
1 EK 165 l=200x4               Mounting band
2 ES 297 M 8x25 DIN 7991       Screw
2 ES 216 M 8x30 DIN 7991       Screw
2 ES 408 M 8x35 DIN 7991       Screw
3 HX 416                       Pipe clip
4 HX 007                       Pipe clip
5 ES 414 M 6x10 DIN 912        Screw

6 EK 043 D 6,4 DIN 134         Washer
7 EK 221 D 12                  Pipe clip
7 EK 256 D 16Pipe clip
8 ES 856 M 6x35 DIN 912        Screw
8 ES 574 M 6x40 DIN 912        Screw
9 HA4819                       Plate
10 EZ2643                       Hose clip

11 EM 014 M 6 DIN 985           Nut
12 ES 297 M 8x25 DIN 7991       Screw
12 ES 470 M 8x45 DIN 7991       Screw
13 HX 611                       Clip
14 EM 026 M 8-8 VZ DIN 985           Nut
15 ES 105 M 6x40 DIN 912        Screw
15 ES 083 M 5x40 DIN 84Screw
15 ES 263 M 5x45 DIN 912Screw

16 HTR 810                       Plate
17 EZ 124 D 17x4                Hose clip
17 EZ2836 D 17x2 20x2           Hose clip
18 EM 040 M 5 DIN 985           Nut
19 ES 879M M 6x8 DIN 912Screw
20 EK2635 1 D 6Clip

21 HIS 008 1 l=135 mm              Pin
22 EQ 042 1 D 4,5 DIN 11023       Pin locking
23 HXL 010 1 11t                  Suspension eye
24 EZ1598 1 8 t                   Crane hook

ELW 262 1 Ball bearing
EZ1598-01 1 Nut M 30x3.5 UNI  5593
EZ1599 1 Safety latch                       

Description DimensionSpare partNo. Qty.


	INDEX   S205-EK-A 
	 EN 
	1000       
	1000.01000-A     Miscellaneous

	AB001       Remote control
	Download




	1_7028: 
	1_7029: 
	2_7030: 
	2_7031: 
	2_7032: 
	3_7033: 
	4_7034: 
	5_7035: 
	6_7036: 
	7_7037: 
	7_7038: 
	8_7039: 
	8_7040: 
	9_7041: 
	10_7042: 
	11_7043: 
	12_7044: 
	12_7045: 
	13_7046: 
	13_7047: 
	14_7048: 
	15_7049: 
	15_7050: 
	15_7051: 
	16_7052: 
	17_7053: 
	17_7054: 
	18_7055: 
	19_7056: 
	20_7057: 
	21_7058: 
	22_7059: 
	23_7060: 
	24_7061: 
	pos_7062: 
	pos_7063: 
	pos_7064: 
	pos_7065: 
	pos_7066: 
	pos_7067: 
	pos_7068: 
	pos_7069: 
	pos_7070: 
	pos_7071: 
	pos_7072: 
	pos_7073: 
	pos_7074: 
	pos_7075: 
	pos_7076: 
	pos_7077: 
	pos_7078: 
	pos_7079: 
	pos_7080: 
	pos_7081: 
	pos_7082: 
	pos_7083: 
	pos_7084: 
	pos_7085: 
	pos_7086: 
	pos_7087: 
	pos_7088: 
	pos_7089: 
	pos_7090: 
	pos_7091: 
	pos_7092: 
	pos_7093: 
	pos_7094: 
	pos_7095: 
	pos_7096: 
	pos_7097: 


